LZEERT - BF

3 EZRILEMBEDEE

bad 2MEOEROHL,

RER

FMOBEZIEND. MBI 2,
MELR. BUEEBZRDN S,
ZDEZEDIERZERICKU T,

e

WMNEE (g)

0.20 |1 0.40]0.60

0.80

1.00

BRACDEE

025 | 77 |0.75

1.00

1.25

fteaLIcBRERDEE

0.05 [0.10]0.15

~«

0.25

(1) RDT, 4 ICYHTIFEZREFEZTZHRI,

(2) IHDEE LB UIBROEEDEFRERLII ST %

BERICES BT,

3) HNEELILEUERRDEEDLZEZA RS L,

(4) COEEDHERERIGRZZERS L\,

(B) AROERZX VRV ILTITS>ETRDI Z7DELS
IKBEofco NURVILDEEBENEUBRROEEDLE

BEZIRE,

1.2

1.0

ik
T 0.8

L

7=
% 0.6
5

0.1
(4

it

0.2

//

(8)
08//, -
0.3 0.6 0.9 1.2 1.5

n KUJL  https://idril.com

2 F T LD ()

=t J=|
2]
)’ 0.5
O (1)
a4 0.2
0.6
R
0.
@ %m
,“"E 0.2 /./
() 0.1
(Mibtm(m(m 1.0
oWt (g)
LI (3) 4:1
[ (4) 2Cu + O, = 2Cu0
O [ (B) 3:2



https://iidrill.com

